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QID:1-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given altematives.

foafeieg o & v 7w fepent T o R
(?) & VAT W AT drell HEA &l Jiad|

Options:
1) 16

2)18
3) 24

4) 30
Correct Answer: 18
Candidate Answer: 18

QID:2-

20

26

?

How many quadrilaterals are there in the given figure?

& T sl & faa Tgye §2

Options:
1) 10

2)12
3)18

4)19
Correct Answer: 18
Candidate Answer: 10
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QID: 3-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the allernatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 40, §8, etc., and ‘S’ can be represented by 10, 89, etc.
Similarly, you have to identify the set for the word “EIGHT”?

TUh Qe hadl U HEUIIEE gRT airr I’ ¥, ol &6 faseut #F
forelt v 3t R R ¥ faedt @ Bu MU HEan-wes 3R & g aot
grT gefw rw € oRm fF fGu 1w & aeygt of ¥ aneyl F e AR
Gfeh &1 FEAT 0 ¥ 4 § W IMFUFH 5 T 91 3T HEgRr A TH 6N
T Ugd 3OH UfRE A ag I TaEw dww g gl ST ogddr g
IEIAUT & U A’ @l 40, 58, 3176 ERT GVAT ST WehaT & AT “S’ @l 10,
89, 3¢ BRI Gofmr S whar &1 RN ave ¥ W oH # BU g
“EIGHT” & v @ = uea=@r ¢

Matrix-| Matrix-Il

el -l
0(1]2(3]| 4 5(/6|[7(8]9
o|T|VI|G]|I]|D S|IRIN|K[A[H
1|S|F|J|N|U G|L|R|[T|O|N
2|Y|P|[V|IM|F T|1jQlwly|P
3|I1|E|A|C|H 8(FIH|R|M|S
4|A|K|{D|U[N 9|V|G|A|lU|B

Options:
1) 31, 03, 96, 59, 67

2) 69, 30, 97, 59, 65
3) 69, 04, 03, 34, 65

4) 13, 30, 02, 86, 65
Correct Answer: 31, 03, 96, 59, 67
Candidate Answer: 31, 03, 96, 59, 67

QID: 4 -
From the given answer figures, select the one in
which the question figure is hidden/fembedded.

& oE TR AEOT H ¥ 3@ =W AEaE & gaw
form & uyr agla BT &

<




Options:
1)

2)

3)

4)

9 B B &

Correct Answer:

©

Candidate Answer:

©

QID:5-
Which answer figure will complete the pattern in the
question figure?

Wi Ul 3aT BT W AP o UiadeT @l g
THIoN?

“~J




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID:6-
If & mitror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

fg T gUUT @ AB T WY T@T W, a1 & T
IO AGAAT # W Hid @ Hpia v Tgla H
Ty ufafea gefr?

=V w
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Options:
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4)

N
W F’ E
s

Correct Answer:

=EA ©

=

m

Candidate Answer:

=A ®

2

m

QID:7-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d ¥ vy iRt d REm 3gErR e @
AR S dA Wield & A T TFE IO AT
St fears game

@[ﬂ




Options:
1)

2

—

Ol®AS

3

~

4

)

|
<
>

Correct Answer:

>
>

A4
A

Candidate Answer:

>
>

Y
A

QID : 8 - If ‘T" means *+’, ‘U’ means '+’, ‘V' means *x’ and ‘W’ means *—’, then which of the following equation is true?

e T o7 3+, U T 3 v, v e el e qur W &t oref — Y, |l Rafafaa # & 19w ariieru g€l 82
Options:

1)11V3U33T2=122

2)6VoU18W2=0

3)6V3U15T2=9/2

4)12T4U2V 16 = 44

Correct Answer: 12T4U2V 16 =44
Candidate Answer: 12T4U2V 16 =44

QID:9-If1x2x3=36and2x 3 x4 =81, then

1x3x4=2

AE1x2x3=367U2x3x4=81F,dl

1x3x%x4=7?
Options:

1) 49

2) 56

3) 64

4) 16

Correct Answer: 64
Candidate Answer: 64




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Islet
2. Irate
3. Ingot
4. Ingle
5. Indigo

FofaRed wsdl & TG F M a1 HH P SIuR |

1. Islet
2. Irate
3. Ingot
4. Ingle
5. Indigo

Options:
1) 53412
2) 45312
3) 54321
4) 43512

Correct Answer: 54321
Candidate Answer: 54321

QID : 11 - In the following question, select the missing number from the given series.

72, 76, 74, 78, 76, 80, 78, ?

FrafRed e & feu 0 fgwedl & 9 g e 1 S|
72,76, 74,78, 76, 80,78, ?

Options:

1) 76

2) 80

3)82

4) 84
Correct Answer: 82
Candidate Answer: 82

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

F,H,K O,?

TP 3 foan man B, Orad ¥ U Ug g 31 o T fodel §f ¥ 95 96 fawe gie, S ogmu Bl g vl
F, H,KO0,7?

Options:

1S

2)T

3)U

4)V
Correct Answer: T
Candidate Answer: T

QID : 13 - In the following question, select the odd word from the given alternatives.

afaRad oy § G T fowed! & & favd g &7 gful
Options:

1) Feet

R

2) Brain

RTsh

3) Hands

'Y
4) Head
RR

Correct Answer: Brain

Candidate Answer: Brain




QID : 14 - In the following question, select the odd number pair from the given alternatives.

Fafeied vy & fau 1 fagedl & @ favs =1 g &1 9f- g
Options:

1) 1,11

2)2,22

3)3,33

4) 4,42

Correct Answer: 4,42
Candidate Answer: 4,42

QID : 15 - In the following question, select the odd letters from the given alternatives.

Fofafad vy & 3w e fawmedl § ¥ fawy sieri & gl
Options:

1) MNOQ

2) HIIL

3) CDEG

4) TUVY
Correct Answer: TUVY
Candidate Answer: TUVY

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Rat, Rabbit, Dog

98 3RG AT o - U e anif & o & Hay &1 Tet e e g

TET, T, H
Options:

00
®

Correct Answer:

®
e

Candidate Answer:

o5




QID : 17 - In the following question, select the related word from the given alternatives.

Carpenter : Saw : : Farmer: ?

frafafed vy # fau g e & 3 gafda s 31 ghul
az:é: 3R :: fparT: 2

Options:

1) Anvil

2) Spade

3) Plough

Gl

4) Sword
GEEIR

Correct Answer: Plough
&)

Candidate Answer: Plough
&S

QID : 18 - In the following question, select the related number from the given alternatives.

3618:904.5::4266:?

FrafeRed wy § fou 10 fdwedl & ¥ et e & gl
3618:904.5::4266:?

Options:

1) 1288.5

2) 1866.5

3) 1782.25

4) 1066.5
Correct Answer: 1066.5
Candidate Answer: 1066.5

QID : 19 - In the following question, select the related letters from the given alternatives.
QWTR : SYVT : : HOME : ?
Frafafeaa wy § fou T fasedt O O Hafta sieri &1 gHu|

QWTR : SYVT : : HOME : ?

Options:
1) JQOG

2) IPNF
3) JQNF

4) JPOG
Correct Answer: JQOG
Candidate Answer: JQOG

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
BLASTER

Frafafed fawedl § 9 98 Wsg 9T o faU U Xeg & S1&RT &1 TN R g1 SR S FhaTl

BLASTER

Options:

1) STAR

2) BOAST

3) LAST

4) BEAR
Correct Answer: BOAST
Candidate Answer: BOAST

QID : 21 - In a row of toys, pink toy is 13t from right end and 315t from left end. How many total toys are there in the row?

o Bredr 25



Options:

1) 45

2)44

3)43

4) 46

Correct Answer: 43
Candidate Answer: 43

QID : 22 - Present age of Usha is 36 years. 10 years ago ratio of ages of Usha and Asha was 2 : 3. What will be Asha’s age (in years) after 2 years?

SO BT A 1Y 36 I §1 10 T G ST AT TR BT 31 T (UG 2 ¢ 3 ATI 2 T YL H1=1 bt 3y (I§T #) < gt
Options:
1) 51

2)49
3) 47

4) 45
Correct Answer: 51
Candidate Answer: 51

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some grapes are green.
I1. Some green are colour.

Conclusions:
1. Some grapes are colour.
II. Some grapes are not colour.

e g 7T v F o U AR Ib §1E I Bl W SR B (b 27 7T 8, BTl IHH A Id el F e 81 et 81 el ey ug ok by e
o3 o fow o B @ fre, 3T T S F enuR W g §)

mmz o &
139 SRR T
I 3 R WG
forsepd:
L3S RIEI
1L $% TR 3 g 81
Options:
1) Only conclusion (I) follows.
Faa ey (1) I 71
2) Only conclusion (II) follows.
FHaa Y (1) T8 3
3) Both conclusion %follow.
: S
4) Neither conclusion (I) nor conclusion (II) follows.
@ feed (1) 7 & Freedf (1) T B
Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
T a s (1) 7 g ey (1) e B
Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

Fa e (1) 7 € P (1) 9 21

QID : 24 - In a certain code language, "BOWL" is written as "CQZP". How is "LAZY" written in that code language?

o AR BIs | &, "BOWL" & "CQzP" foral SITdl ¥ 39 $ls HINT § "LAZY" & {59 UeR ferar sawm?
Options:
1) MCCC

2) MCCB
3) MCBB

4) MCBC
Correct Answer: MCCC
Candidate Answer: MCCC

QID : 25 - In a certain code language, "AND" is written as "21" and "END" is written as "25". How is "BET" written in that code language?

s ARy SIS W &, "AND" %I "21" TUT "END" & "25" ol Sl §1 39 SIS YNl § "BET" &I {5y YR forar Srewm?

PG NEai derll Ll i, A T e = /



Options:
1)27

2) 28
3)29

4) 30
Correct Answer: 29
Candidate Answer: 29

QID : 26 - How many times the digit 7 appears in the numbers from 103 to 200?

103 ¥ 200 T ! Tarat # 3iep 7 fba IR M7 82

Options:
1) 18

2)19

3)20

421

Correct Answer: 20

Candidate Answer: 20

QID : 27 - If N = 23 x 32, then what are the positive factors of N?
TGN = 23 x 32 §, A N T YFTHS UGS T 2

Options:
1)5

2)8

3)12

4) 20

Correct Answer: 12

Candidate Answer: 12

QID : 28 - What is the value of 12 + 32 + 52 +_..... 1527

124324524+ 152 HIAF T 8?



Options:
1) 680

2) 690

3) 710

4)720

Correct Answer: 680

Candidate Answer: 680

QID:29-IfA=23x32 B=22x3%and C = 23 x 3% then what is the value of A x B x C?
e A=23x32,B=22x3°qUC=23x32%, A1 AxBxCPHIHH T T?

Options:
1) 2839

2) 29 310

3) 27 310

4) 210 310

Correct Answer: 28 3°

Candidate Answer: 28 3°

QID : 30 - What is the least common multiple of 24, 48 and 72?
24, 48 TYT 72 &1 ATH THTAY T §?

Options:
1)72

2) 144

3) 288

4) 216



Correct Answer: 144

Candidate Answer: 144

QID : 31 - What is the unit’s digit of 12121?
12121 1 3PTS 37 T §?

Options:
1)1

2) 4

3)5

4)7

Correct Answer: 1

Candidate Answer: 1

QID: 32-X, Y and Z together can complete a work in 20 days. Y and Z can complete the same work in 30 days. In how many days X alone can complete the same
work?

X, Y 1 Z forit o ot 20 fHT & qR1 % Waval €1 Y 41 Z 39 1 I 30 & B U1 R ahdl €1 X 31pal I B Bl e A F T R qahall 82

Options:
1) 60

2) 45

3) 40

4) 50

Correct Answer: 60

Candidate Answer: 60

QID : 33 - U, Vand W together can complete a work in 10 days. If U alone can complete the work in 20 days and V alone can complete the work in 30 days, then in
how many days W alone can complete the work?

U, v @ W e feseit &l Y 10 1371 & g % e €1 afg U side 20 137 & o1l qr1 % el § T V 313 30 3 H &1 g1 ) apdr 8, <f W sHban fahan
137 7 1 O R el 82



Options:
1) 30

2) 40

3) 60

4) 80

Correct Answer: 60

Candidate Answer: 60

QID : 34 - If the surface area of cube is 384 cm?, then what is the volume (in cm3) of the cube?
e =1 &1 gEtg Sme 384 9.2 B, O 9 &1 o (.3 B) | g

Options:
1) 512

2) 356

3) 484

4) 686

Correct Answer: 512

Candidate Answer: 512

QID : 35 - Marked price of an article is Rs 4200. It was sold at a discount of 16.66%. If there was a loss of 9.09%, then what was the cost price (in Rs) of the
article?

T I &1 Sifchd T 4200 ¥ T1 I 16.66% BT G W o1 T AT1 TG 9.09% &1 311 g3 2N, T I8 H1 50 T4 (3 H) F7 412

Options:
1) 3500

2) 3750

3) 4000

4) 3850









Options:
1) 450

2) 500

3) 550

4) 600

Correct Answer: 550

Candidate Answer: 550

QID : 41 - If profit is 1/9% of selling price, then what is the profit percentage?
afe; T 3T Te &1 1/9-aF YT 8, A 1Y fRrd T 82

Options:
1)11.11

2)12.5

3) 14.28

4) 14

Correct Answer: 12.5

Candidate Answer: 12.5

QID : 42 - The price of a watch increases every year by 25%. If the present price is Rs 7500, then what was the price (in Rs) 2 years ago?
TP IS P BIHd Ulaay 25% | el 81 I adHE BIHa S 7500 B, & 2 7Y Ugd HiAd (3 §) 7 o

Options:
1) 4800

2) 5200

3) 6200

4) 3600



Correct Answer: 4800

Candidate Answer: 4800

QID : 43 - If P is 15% more than 480, then what is the value of P?

Tfe P, 480 ¥ 15% 31 §, A P 1 A 7 8?2

Options:
1) 512

2) 552

3) 542

4) 562

Correct Answer: 552

Candidate Answer: 552

QID : 44 - A train passes two bridges of length 600 metres and 300 metres in 120 seconds and 80 seconds respectively. What is the length (in metres) of the train?
T YT 600 Hiex qur 300 Hex T & Yal S HA: 120 JHUS qUT 80 JHUS H UR FR adt 51 YaTe! i awars (e /) dr g2

Options:
1) 200

2) 250

3) 300

4) 450

Correct Answer: 300

Candidate Answer: 300

QID : 45 - Raman goes office at a speed of 40 kmph and returns home at a speed of 60 kmph. What is his average speed (in km/hr)?
A 40 fop. 71, /eeT @t I A 3R Prafer ST 8 qut 60 o). /eer @t 1y & W A o 81 39 oivya Tifa (.. eer #) @ g2



Options:
1) 45

2)48

3) 50

4)52

Correct Answer: 48

Candidate Answer: 48

QID : 46 - A certain amount is invested in a scheme of simple interest. It amounts to Rs 3096 in 6 years and Rs 3744 in 9 years. What is the rate of interest (in
percentage)?

U@ P TR &1 QYR STt arelt U Ao | A fan | 98 6 9uT H 3096 % dUT 9 INT H 3744 % g 9 § | SN ®I &) (WfaRd H) 7 82

Options:
1) 12

2)15

3) 18

4) 20

Correct Answer: 12

Candidate Answer: 12



QID: 47-
The bar chart given below shows the number of

students (in ‘00) in a school from year 2000 to year
2004.

d fw o gus Ry # ue fauew & a§ 2000 @
a¥ 2004 T@F & OISl T @EAT (00 H) I gRITm =T
gl

—
o 0
L
—
[$)]

|

O N PO

2000 2001 2002 2003 2004
Year /| 9§

Number of students (in "00)
orl $T FEET (00 )
®© S o
|

What is the average number of students from year 2000 to 2002?
9 2000 ¥ T 2002 TF BET P SiRTa W fBat §2

Options:
1) 1000

2) 1200

3) 1100

4) 800

Correct Answer: 1200

Candidate Answer: 1200




QID: 48-
The bar chart given below shows the number of

students (in ‘00) in a school from year 2000 to year
2004.

d fw o gus Ry # ue fauew & a§ 2000 @
a¥ 2004 T@F & OISl T @EAT (00 H) I gRITm =T
gl

—
o 0
L
—
[$)]

|

O N PO

2000 2001 2002 2003 2004
Year /| 9§

Number of students (in "00)
orl $T FEET (00 )
®© S o
|

What is the total number of students in year 2002 and 2003?

T 2002 quT a9 2003 H BE B Fa T fba 82

Options:
1) 2900

2) 2700

3) 3100

4) 2800

Correct Answer: 2900

Candidate Answer: 2900




QID: 49-
The bar chart given below shows the number of

students (in ‘00) in a school from year 2000 to year
2004.

d fw o gus Ry # ue fauew & a§ 2000 @
a¥ 2004 T@F & OISl T @EAT (00 H) I gRITm =T
gl

—
o 0
L
—
[$)]

|

O N PO

2000 2001 2002 2003 2004
Year /| 9§

Number of students (in "00)
orl $T FEET (00 )
®© S o
|

What is the difference between the total number of students in year 2004 and 2000?

T 2004 quT a9 2000 & s B B Ha G F faraT SR 72

Options:
1) 1600

2) 1000

3) 800

4) 600

Correct Answer: 600

Candidate Answer: 600




QID: 50-
The bar chart given below shows the number of
students (in ‘00) in a school from year 2000 to year

2004.

d fw o gus Ry # ue fauew & a§ 2000 @
a¥ 2004 T@F & OISl T @EAT (00 H) I gRITm =T
gl

18 -
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Students in year 2003 is how much percent more than the students in year 2000?

¥ 2003 F TEI BT foraT Ui a9 2000 F BET I 31 B2

Options:
1) 150

2)25

3)50

4)33

Correct Answer: 50

Candidate Answer: 50

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

We have to always be on our (1)/guard to ensure the highest level (2)/of safety inside train operations. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3
Candidate Answer: 2

TP At Lo Sh e A N e



QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

He also identified quality of catering, (1)/ linen and cleanliness, which (2)/ he said was crying in attention. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3
Candidate Answer: 1

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Mr. Batra took a card from pocket.

Options:
1) their

2) her
3) his

4)its
Correct Answer: his
Candidate Answer: his

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The rich not always happy.

Options:
1) have

2) are
3) has

4) am
Correct Answer: are
Candidate Answer: are

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Defy

Options:

1) Give in

2) Obey

3) Repel

4) Surrender

Correct Answer: Repel
Candidate Answer: Surrender

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Laden

Options:
1) Full

2) Empty
3) Light

4) Unloaded
Correct Answer: Full
Candidate Answer: Empty

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lousy




Options:
1) Magpnificent

2) Terrible
3) Good

4) Great
Correct Answer: Terrible
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Eternity

Options:
1) Perennial

2) Infinity
3) Bounds

4) Immortality
Correct Answer: Bounds
Candidate Answer: Infinity

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Manage

Options:
1) Administer

2) Conduct
3) Handle

4) Fail
Correct Answer: Fail
Candidate Answer: Fail

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Resolve

Options:
1) Determination

2) Indecision
3) Intend

4) Firmness
Correct Answer: Indecision
Candidate Answer: Indecision

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Set at liberty

Options:
1) To release

2) Certainly
3) Literally and strictly

4) Earning an honest living
Correct Answer: To release
Candidate Answer: To release

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Get away




Options:
1) Won

2) Escape
3) Slept

4) Rejuvenate
Correct Answer: Escape
Candidate Answer: Escape

QID : 63 - Improve the bracketed part of the sentence.

Schools (which) have gyms do not have enough facilities such as swimming pools and tennis courts.
Options:

1) whose

2) there

3) they

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

QID : 64 - Improve the bracketed part of the sentence.

Workers work for over twenty five hours per week to get (them) minimum wages.
Options:

1) their

2) that

3) this

4) No improvement

Correct Answer: their

Candidate Answer: their

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A brief account of a subject

Options:
1) Arbitrary

2) Temporary
3) Summary

4) Adversary
Correct Answer: Summary
Candidate Answer: Summary

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A body of voters

Options:
1) Administrate

2) Corporate
3) Electorate

4) Confederate
Correct Answer: Electorate
Candidate Answer: Electorate

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Clevur

2) Clever
3) Celever

4) Clevor
Correct Answer: Clever
Candidate Answer: Clever

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.




Options:
1) Guarantee

2) Gaukrantee
3) Guarantie

4) Gaurantee
Correct Answer: Guarantee
Candidate Answer: Gaurantee

QID : 69 - Rearrange the parts of the sentence in correct order.

A mere visit

P: computers depending on
Q: the programs used

R: to a website can infect

Options:
1) PQR

2) RQP
3) PRQ

4) RPQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 70 - Rearrange the parts of the sentence in correct order.

We have no safer water
P: inhale and pollution
Q: to drink pure air to
R: free land to crop

Options:
1) QPR

2) PRQ
3) RPQ

4) QRP
Correct Answer: QPR
Candidate Answer: QPR

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

In real sense planned effort to rural development was with the launching of Community Development Programme in the early fifties. Although programme
was not very but it had promoted the of a network of basic extension and development services at the grass level in villages. Thus, creating
awareness in the rural communities of the potential and means of development which made quicker adoption of major technological in agriculture possible
later in the mid 60's.

Rural development was with the launching

Options:
1) initiated

2) depreciated
3) created

4) deduced
Correct Answer: initiated
Candidate Answer: initiated

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

In real sense planned effort to rural development was with the launching of Community Development Programme in the early fifties. Although programme
was not very but it had promoted the of a network of basic extension and development services at the grass level in villages. Thus, creating
awareness in the rural communities of the potential and means of development which made quicker adoption of major technological in agriculture possible
later in the mid 60's.

Very but it had promoted

TP At Lo Sh e A N e



Options:
1) unsuccessful

2) successful
3) ineffective

4) ruthless
Correct Answer: successful
Candidate Answer: successful

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

In real sense planned effort to rural development was with the launching of Community Development Programme in the early fifties. Although programme
was not very but it had promoted the of a network of basic extension and development services at the grass level in villages. Thus, creating
awareness in the rural communities of the potential and means of development which made quicker adoption of major technological in agriculture possible
later in the mid 60's.

The of a network of basic extension

Options:
1) reduction

2) dispute
3) growth

4) eruption
Correct Answer: growth
Candidate Answer: growth

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

In real sense planned effort to rural development was with the launching of Community Development Programme in the early fifties. Although programme
was not very but it had promoted the of a network of basic extension and development services at the grass level in villages. Thus, creating
awareness in the rural communities of the potential and means of development which made quicker adoption of major technological in agriculture possible
later in the mid 60's.

Services atthegrass__ level in villages.
Options:

1) branch

2) mere

3) initial

4) root

Correct Answer: root

Candidate Answer: root

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

In real sense planned effort to rural development was with the launching of Community Development Programme in the early fifties. Although programme
was not very but it had promoted the of a network of basic extension and development services at the grass level in villages. Thus, creating
awareness in the rural communities of the potential and means of development which made quicker adoption of major technological in agriculture possible
later in the mid 60's.

Technological in agriculture possible later in the mid 60's.

Options:

1) conflicts

2) inflicts

3) solicits

4) advances

Correct Answer: advances

Candidate Answer: advances

QID : 76 - What is the full form of GDP?

Sheidt @1 srifare w0 1 82
Options:

1) Gross Daily Product

7 3ol Tisae

2) Gross Domestic Product
3) Great Domestic Product

4) Great Daily Product
I SHl Higae

Correct Answer: Gross Domestic Product

TP At Lo Sh e A N e



Candidate Answer: Gross Domestic Product

I SAfe® Wsae

QID : 77 - Which among the following cannot be considered as measure of improvement or national development?

Frafafad & § 58 QuR sryar i ey &1 A1ue 81 /1T o Jaar
Options:

1) Per capita income

uid e ey

2) Gross domestic product

Yhd TR I

3) Literacy rate

HIERAT )

4) Gender equality

IKURSEICKI]

Correct Answer: Gender equality
[SUKEIEG

Candidate Answer: Gender equality
IGUERISGIl

QID : 78 - Directive principles of state policy is enumerated in which part of Indian Constitution?

HRda Wi $ v 7 Tow AR By Rigid aftfa &2
Options:

1) PartI

HETI

2) PartII

HRAT II

3) Part II

HIT 1T

4) Part IV

HRT IV

Correct Answer: Part IV
HRT IV

Candidate Answer: Part IV
HAT IV

QID : 79 - Out of 245 members of Rajya Sabha how many member are elected?

T GUT & 245 Tew! # I §d fvam Faifad e 8 81
Options:

1) 220

2) 233

3) 230

4) 215

Correct Answer: 233
Candidate Answer: 233

QID : 80 - Sultan Muhammad Ghori who defeated Prithviraja III in 1192 was a ruler from .

1192 & TGRS 111 BI WRISIT HI alel Yea HgHIg gkt BT AES AT
Options:

1) Afghanistan

SN

2) Persia

IR

3) Iran

4) Egypt
G|
Correct Answer: Afghanistan

Candidate Answer: Afghanistan

QID : 81 - In which year Muslim league had moved a resolution demanding ‘Independent States’ for Muslims in north-western and eastern areas of Country?

g af o g &t 7 331 % ufdioR aur gt & o gaamel & o s Isal o AT SR §U US TRard IR faa A
Opti H
1) 1920
2) 1930
3) 1935
4) 1940

Correct Answer: 1940
Candidate Answer: 1935

QID : 82 - Whole Earth experiences equal days and equal nights on which dates?
9 gl W o Ty &1 v1a wd e




Options:

1) 21 March and 23 July

21 AT qT 23 s

2) 21 July and 23 September
21 Jars a1 23 RiaweR

3) 21 March and 23 September
21 A T 23

4) 22 December and 21 March
22 fewmaR quT 21 ARk

Correct Answer: 21 March and 23 September
21 A T 23 R

Candidate Answer: [ NOT ANSWERED ]

QID : 83 - Which is the world’s largest hot desert?

% 1 gad F1 TH RAH HH AT 82
Options:
1) Kalahari

2) Atacama
3{cTh T
3) Sahara

HeRT
4) Thar
YR

Correct Answer: Sahara
HERT

Candidate Answer: Sahara
HeRT

QID : 84 - What is the innermost part of a flower called as?

g ¥ &g A FRYG HIT 1 Bgardl 82
Options:

1) Pistil

TllbeR

2) Stamens

3) Sepals
qrelqd
q) Petgls

Correct Answer: Pistil

Candidate Answer: Pistil

QID : 85 - During photosynthesis the oxygen in glucose comes from

THTRT TRAYU & SR TqebIel & Sffaiier o B
Options:
1) Water
S
2) Carbon gioxide
SISHIFES

3) Both from water and carbon dioxide
T AR B S SHfargs At

4) Sunlight

T & UBIR

Correct Ar\l’swer: Carbon dioxide
DI SR HIaZS

Candidate Answer: Water

oA

QID : 86 - The colour of lymph is .

[Eicaka k] g
Options:

1) Red

IeT

2) Yellow

3) Colourless

4) Milky

Correct Answer: Colourless

Candidate Answer: Yellow




QID : 87 - In science, fluids is the common name for

faqm @ &1 Us & 9 W fem mn g
Options:

1) Gases only

Faa Tt

2) Liquids only
Fad gl

3) Both gases and liquids
T T gedt S

4) None of these

1 A IS T

Correct Answer: Both gases and liquids
Candidaye Answer: Liquids only

Had gl

QID : 88 - What is the shape of the reflectors of torches, headlights of cars and scooters?

T, FRI TUT el & ST & WIdcdd Y§ BI SPha o1 gt 82
Options:

1) Concave

3{qda

2) Convex

3T

3) Plane

qHIA

4) Cylindrical

SEABR

Correct Answer: Concave
ECRE]

Candidate Answer: Concave
3{ddd

QID : 89 - In computers, which is the full form NIC?

PR §, T4 . T oRifd Ta w2
Options:

1) Network Interface Card

Aead ST DTS

2) Networl; Information Card
Feas EaS)

3) New Interface Card
Y R S

4) New Information Card

=

Correc_t Answer: Network Interface Card

Candidate Answer: Network Interface Card

QID : 90 - A metal, which exists in liquid state .

WA a1 H et S aredt e Bl
Options:
1) Potassium

2) Tin
fes1

3) Mercury

ORI

4) Tungsten

R

Correct Answer: Mercury
URT

Candidate Answer: Mercury
URT

QID : 91 - Plaster of Paris is obtained by heating
BT PR W WRER 7% AR Y1 grern 31




Options:
1) Gypsum
ooy

2) Calcium chloride
Py

3) Sodium sulphate
HfeaH gethe

4) Calcium sulphate
Plexay g
Correct Answer: Gypsum

Candidate Answer: Calcium sulphate

QID : 92 - Which is the only one major process through which oxygen is returned to the atmosphere?

qrgrse # Sffewfior dieH el ThHR e Uil BiF I 82
Options:

1) Combustion

<8

2) Respiration

I

3) Formation of oxides of nitrogen

AEeroH HI sfiags At

4) Photosynthesis

BRI

Correct Answer: Photosynthesis

Candit_iate Answer: Photosynthesis

QID : 93 - UJALA is a scheme for the LED based Domestic Efficient Lightning Programme (DELP). UJALA is an acronym for ;

I Uasal Senia TR FRIe fooreht wrfern (Suadh) & forg ue diern 81 Isimar & fo U wifé wee 31
Options:

1) Unnat Jyoti by Affordable LEDs for All

I9d I 918 HBlead Td. 3. S BR Hfd

2) Ujjwal Jagriti by Affordable LEDs for All

I=Igd JIfd EISdd Ud. 3. 8. BR 3ffd

3) Ujjwal Jagriti by Accessible Lights for All

Isad o gt % e gau = gRT

4) Unnat Jyoti by Accessible Lights for All

gt & foru uga am I R

Correct Answer: Unnat Jyoti by Affordable LEDs for All
I9d SIfd 915 Srplead Ua. 3. 81 BR $ffd

Candidate Answer: Ujjwal Jagriti by Affordable LEDs for All
Itae I SIS ad Ua. 3. Sf. BR Sid

QID : 94 - Who discovered neutron?

IS B il fhaa 3 e
Options:

1) J.J. Thomson

. S, Y

2) James Chadwick

S sfaw

3) R.A. Millikan

3R, . e
4) E. Rutherford
IS

Correct Answer: James Chadwick

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - Supreme Court appointed 'R. M. Lodha Committee’ for overhaul of structure of which sport in India?

U I HRT H by Tl 31 WRa1 & SliavgTel &b o 3R, T, et 9ifer e foeam ar
Options:

1) Football

LIS

2) Tennis

3) Cricket
fbpe

4) Table Tennis
eod e

Correct Answer: Cricket

Candidate Answer: Cricket




QID : 96 - Rangavalli is a traditional folk art of which state?

TTaa! [ o B IRURS 1 Hal §
Options:
1) Bihar

2) Gujrat
3) Karnataka
Fics

4) Madhya Pradesh
A U™

Correct Answer: Karnataka

Candidate Answer: Karnataka

QID : 97 - Which Indian has won the 2017 Dan David prize for his contribution in the field of astronomy?

Wil O & & & I dieF % 8 2017 o 368 TR fe YRR 3 Siar 82
Options:
1) Shrinivas Kulkarni

2) Amil Kumar Das
A HAR T
3) Jayant Narlikar
T TREADR

4) Govind Swaroop
Tifde ey

Correct Answer: Shrinivas Kulkarni

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Who is the author of book named “Das Capital”?

"SR Hitee” AE GRS & oRad DI 87
Options:
1) Sudarshan Pattnaik
YolDh
2) JaQe Austen

3) R.K Narayan
3R, &, ARE
4) Karl Marx
PG AT

Correct Answer: Karl Marx

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which among the following is not a permanent partner of Malabar trilateral naval exercise?

foafaRed & § oF a1 AraeR B TR snar o1 ®irf ReR A6 82
Options:

1) North America

I SR

2) India

HRd

3) Japan

IEIG)

4) China

ElG|

Correct Answer: China

Candidate Answer: China

QID : 100 - The Minicoy Island of Lakshadweep was part of which neighbouring country of India?

AeTET BT D1 g0 URA & by TSI &= T fgr T2
Options:

1) Sri Lanka

PIREA

2) Indonesia

3). Myanmar
HHER
4) Maldives




ect Answer: Maldives

Corr

Candidate Answer: Maldives

ardia




